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Thinking Test Cases for ChatGPT 
By Julius.Lin@AITek.com 09/28/2024 

 

what version is you ? how update is your knowledge ? 
ChatGPT said: 

I’m based on the GPT-4 architecture, and my knowledge is current up to September 2023. I don’t have real-time 

awareness, so I may not have the most recent updates on rapidly changing topics or newly released tools beyond that 

point. However, I can use a browsing tool to look up current information when needed. Let me know what you need 

updated info on, and I can help! 

what is your size of parameters? 
ChatGPT I’m based on OpenAI’s GPT-4, but OpenAI has not publicly disclosed the exact number of parameters for 

GPT-4. However, it's known that GPT-4 is significantly larger and more advanced than its predecessor, GPT-3, which had 

175 billion parameters. The increase in scale and improvements in training methods contribute to better performance in 

understanding and generating text. 

 

A. Premise Consistency 
1. Forgotten-worry city 
sound great, let's warm up. 

1. Somebody has observed people of Forgotten-worry city, and got the following data.  

Nobody is lazy and successful. 

All the successful people in Forgotten-worry city are lazy. 

Lazy people in Forgotten-worry city are successful. 

    Are these data contradictory or not ? 

ChatGPT To determine if the statements are contradictory, let’s analyze them logically. 
Statements Analysis: 

1. Statement 1: Nobody is lazy and successful. 

2. Statement 2: All the successful people in Forgotten-worry are lazy. 

3. Statement 3: Lazy people in Forgotten-worry city are successful. 

Logical Representation: 

Let’s define: 

• L(x): x is lazy. 

• S(x): x is successful. 

Now, let's translate the statements: 

1. Statement 1: ¬∃x (L(x) ∧ S(x)) 

("No one is both lazy and successful.") 

2. Statement 2: ∀x (S(x) → L(x)) 

("If someone is successful, then they are lazy.") 

3. Statement 3: ∀x (L(x) → S(x)) 

("If someone is lazy, then they are successful.") 

Contradiction Check: 

To find if there’s a contradiction, let's examine these together: 

mailto:Julius.Lin@AITek.com


Thinking Test Cases for ChatGPT.docx  P. 2 / 18 

• Statement 2 and Statement 3 together imply that being lazy and being successful are equivalent: 

S(x)↔L(x)S(x) ↔ L(x)S(x)↔L(x) (if someone is lazy, they are successful, and vice versa). 

• However, Statement 1 explicitly states that no one can be both lazy and successful: 

¬∃x(L(x)∧S(x))¬∃x (L(x) ∧ S(x))¬∃x(L(x)∧S(x)). 

This directly contradicts the equivalence derived from Statements 2 and 3 because if S(x)↔L(x)S(x) ↔ 

L(x)S(x)↔L(x), then anyone who is lazy is also successful, and vice versa, implying the existence of someone 

who is both lazy and successful. 

Conclusion: 

Yes, these data are contradictory. Statements 2 and 3 imply that being lazy and successful are the same, 

directly opposing Statement 1, which denies any overlap between laziness and success. 

[JLin] I appreciate your effort and show me how you reach your answer of these data are contradictory. but your answer 

is wrong. the 3 premises are consistent. Try to use Venn Diagram to see where there are any of the 8 segments divided 

from the 3 sets of, e.g. A=lazy people, B=successful people, C=people in the Forgotten-worry city 

ChatGPT said: 

Thank you for pointing that out! Let’s use a Venn diagram approach to analyze the consistency of the three premises. 

Sets Definition: 

• Set A: Lazy people. 

• Set B: Successful people. 

• Set C: People in Forgotten-worry city. 

Venn Diagram Analysis: 

A Venn diagram with three sets (A, B, and C) divides the space into eight possible segments: 

1. A∩B∩C: Lazy, successful, and in Forgotten-worry city. 

2. A∩B∩¬C: Lazy, successful, but not in Forgotten-worry city. 

3. A∩¬B∩C: Lazy, not successful, but in Forgotten-worry city. 

4. A∩¬B∩¬C: Lazy, not successful, and not in Forgotten-worry city. 

5. ¬A∩B∩C: Not lazy, successful, and in Forgotten-worry city. 

6. ¬A∩B∩¬C: Not lazy, successful, but not in Forgotten-worry city. 

7. ¬A∩¬B∩C: Not lazy, not successful, but in Forgotten-worry city. 

8. ¬A∩¬B∩¬C: Not lazy, not successful, and not in Forgotten-worry city. 

Analyzing the Premises with Venn Diagram: 

1. Statement 1: Nobody is lazy and successful. 

o This implies that the region A∩B is empty, which affects both segments A∩B∩C and A∩B∩¬C . 

Therefore, these two segments are empty. 

2. Statement 2: All successful people in Forgotten-worry are lazy. 

o This means that in the context of set C, the successful people (B∩C) are entirely contained within the lazy 

people (A∩C). Therefore, ¬A∩B∩C must be empty. 

3. Statement 3: Lazy people in Forgotten-worry city are successful. 

o This states that within set C, lazy people (A∩CA) are entirely contained within successful people (B∩C). 

Therefore, A∩¬B∩C must be empty. 

Check for Consistency: 

Let's review the required empty regions based on the statements: 

• From Statement 1: A∩B∩C=∅   

• From Statement 2: ¬A∩B∩C=∅ 

• From Statement 3: A∩¬B∩C=∅ 

Since these requirements are consistent with each other, the remaining occupied segment within set CCC would be 

¬A∩¬B∩C, indicating non-lazy, non-successful people in Forgotten-worry city, which is perfectly consistent. 

Conclusion: 

The three premises are consistent. There is no contradiction between the data when analyzed with a Venn diagram, as 

each statement correctly identifies and excludes the necessary segments without conflicting with the others. 



Thinking Test Cases for ChatGPT.docx  P. 3 / 18 

Learned so far 
[JLin] so from these 2 methods, what do you learn? and why first one is wrong ? 

 

ChatGPT said: 

The analysis using both logical representation and Venn diagrams provides important insights into the consistency of 

statements and the critical differences between abstract reasoning and visual set analysis. 

Key Learnings from the Two Methods: 

1. Logical Representation: 

o This approach focused on direct implications and equivalences between the sets, attempting to derive 

consistency or contradiction purely from logical deductions. 

o The error arose when interpreting statements 2 and 3 as defining an equivalence (S(x)↔L(x)), which was 

not explicitly stated and incorrectly implied that some people could be both lazy and successful. 

2. Venn Diagram Approach: 

o This method visually mapped the relationships among the sets, identifying empty and non-empty regions 

to check for consistency. 

o By representing the data graphically, it became clear which regions of the sets were empty, allowing a 

straightforward verification of consistency without mistakenly inferring contradictory information. 

Why the First Method Was Wrong: 

• Misinterpretation of Implications: The logical approach incorrectly concluded that the statements implied 

equivalence between laziness and success (S(x)↔L(x)). However, the statements only provided directional 

conditions (S(x)→L(x) and L(x)→S(x) within the context of the city, which do not imply their equivalence 

outside this context. 

• Failure to Identify Empty Regions Correctly: The logical method did not account for the fact that statements 2 

and 3 only apply to people within the city. It mistakenly generalized the conditions, leading to the erroneous 

conclusion that the statements were contradictory. 

Conclusion: 

The Venn diagram approach is more robust in this case because it explicitly shows the regions affected by the statements, 

avoiding overgeneralization errors and helping visualize that all conditions can coexist without conflict. It emphasizes the 

importance of carefully considering the scope of statements and not over-interpreting logical relationships beyond their 

direct implications. 

[JLin] what make you choose Logical Representation at first place ? is it because of the default choice for your LLM ? 

 

ChatGPT said: 

I initially chose the Logical Representation method because it's a common approach for analyzing statements involving 

logical relationships and set conditions, especially when dealing with abstract or formal logic problems. This method 

aligns closely with how many reasoning tasks are traditionally approached in both mathematics and AI, focusing on 

symbolic manipulation and direct inference. 

Reasons for Choosing Logical Representation First: 

1. Familiarity and Accessibility: Logical representation is a widely used method for reasoning tasks, and it 

provides a systematic way to break down and analyze statements using symbolic logic. This approach allows for 

straightforward deduction and proof, which is often preferred in formal reasoning. 

2. Direct Mapping of Statements to Logic: Given the phrasing of the problem ("Nobody is...," "All...," "Lazy 

people are..."), it naturally lends itself to formal logic expressions. This approach can quickly test for direct 

contradictions using logical rules, making it seem like a suitable starting point. 

3. Structure of Large Language Models (LLMs): LLMs, like GPT-4, are trained extensively on logical reasoning 

tasks and symbolic manipulation, making this a natural first choice. The model has been exposed to a wide range 

of logical reasoning patterns, making it well-equipped to generate structured arguments and check for logical 

consistency. 

4. Ease of Implementation: Logical representation allows for clear, step-by-step explanations that are easy to 

follow and verify, often favored for initial attempts at problem-solving before delving into more visual or 

complex approaches like Venn diagrams. 

Why This Approach Wasn't Sufficient: 

• Implicit Assumptions: The logical analysis inadvertently made assumptions about equivalence that were not 

explicitly supported by the premises. This highlights a limitation when relying solely on abstract logical rules 

without a visual aid to ensure all constraints are accurately represented. 
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• Overgeneralization of Relationships: The logical deductions sometimes simplify complex contextual nuances, 

especially when dealing with specific subsets, such as conditions confined to a particular group (like people in a 

city). 

Conclusion: 

The choice of logical representation reflects both the training and design of the model, favoring structured symbolic 

reasoning. However, this approach needs careful handling of assumptions and context, and integrating it with visual tools 

like Venn diagrams can help cross-validate and provide a more comprehensive understanding of consistency and 

relationships among data. 

2. Some are happy 
[JLin]Are the following observations consistent? Some of the disabled are happy. No disabled are lonesome. All the 

happy people live lonesome. 

 

ChatGPT said: 

Let’s determine whether the given observations are consistent using both a logical analysis and a Venn diagram approach. 

Observations: 

1. Statement 1: Some of the disabled are happy. 

2. Statement 2: No disabled are lonesome. 

3. Statement 3: All the happy people live lonesome. 

Logical Representation: 

Let’s define the sets: 

• D(x): x is disabled. 

• H(x): x is happy. 

• L(x): x is lonesome. 

Translation of Statements: 

1. Statement 1: ∃x (D(x) ∧ H(x)) 

("There exists at least one person who is both disabled and happy.") 

2. Statement 2: ∀x (D(x) → ¬L(x)) 

("If a person is disabled, then they are not lonesome.") 

3. Statement 3: ∀x (H(x) → L(x)) 

("If a person is happy, then they are lonesome.") 

Checking Consistency: 

To determine consistency, consider the implications: 

• From Statement 1, there exists at least one individual who is both disabled and happy. 

• From Statement 2, this individual cannot be lonesome since all disabled people are not lonesome. 

• From Statement 3, since the individual is happy, they must be lonesome. 

Contradiction: Statements 2 and 3 are directly conflicting in the context of the happy disabled person because the happy 

individual must be lonesome (Statement 3), but being disabled prevents them from being lonesome (Statement 2). 

Venn Diagram Approach: 

Using a Venn diagram with sets A (disabled), B (happy), and C (lonesome), analyze where these statements place 

restrictions: 

1. Statement 1: There exists an intersection between A and B (A∩B≠∅). 

2. Statement 2: The intersection between A and C is empty (A∩C=∅). 

3. Statement 3: All of B is within C (B⊆C). 

Since there must be an overlap between A and B, but A cannot overlap with C while B must overlap with C, these 

constraints force a contradiction. 

Conclusion: 

The observations are inconsistent. The existence of a happy disabled person conflicts directly with the requirement that 

no disabled person can be lonesome, making it impossible for all statements to hold simultaneously. 

 

[JLin] [get GPT message my limitation is up]  

oh, no, you are shy away for the challenge, though you get this easiest one correct. 

[but somehow it let the conversation continue] 
ChatGPT said: 
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Thank you for your feedback! I'm glad I got that one right. I’m ready for the next challenge—bring on the test 

cases, and let’s keep going! 

 

You said: [J.Lin changed term beautiful to lonesome, but not change its structure] 

Are the following observations consistent? Some of the disabled are happy. No disabled are lonesome. All the happy 

people live lonesome.  

ChatGPT said: 

Let’s determine whether the given observations are consistent using both a logical analysis and a Venn diagram approach. 

Observations: 

1. Statement 1: Some of the disabled are happy. 

2. Statement 2: No disabled are lonesome. 

3. Statement 3: All the happy people live lonesome. 

Logical Representation: 

Let’s define the sets: 

• D(x): x is disabled. 

• H(x): x is happy. 

• L(x): x is lonesome. 

Translation of Statements: 

1. Statement 1: ∃x (D(x) ∧ H(x)) 

("There exists at least one person who is both disabled and happy.") 

2. Statement 2: ∀x (D(x) → ¬L(x)) 

("If a person is disabled, then they are not lonesome.") 

3. Statement 3: ∀x (H(x) → L(x)) 

("If a person is happy, then they are lonesome.") 

Checking Consistency: 

To determine consistency, consider the implications: 

• From Statement 1, there exists at least one individual who is both disabled and happy. 

• From Statement 2, this individual cannot be lonesome since all disabled people are not lonesome. 

• From Statement 3, since the individual is happy, they must be lonesome. 

Contradiction: Statements 2 and 3 are directly conflicting in the context of the happy disabled person because the happy 

individual must be lonesome (Statement 3), but being disabled prevents them from being lonesome (Statement 2). 

Venn Diagram Approach: 

Using a Venn diagram with sets A (disabled), B (happy), and C (lonesome), analyze where these statements place 

restrictions: 

1. Statement 1: There exists an intersection between A and B (A∩B≠∅). 

2. Statement 2: The intersection between A and C is empty (A∩C=∅). 

3. Statement 3: All of B is within C (B⊆C). 

Since there must be an overlap between A and B, but A cannot overlap with C while B must overlap with C, these 

constraints force a contradiction. 

Conclusion: 

The observations are inconsistent. The existence of a happy disabled person conflicts directly with the requirement that 

no disabled person can be lonesome, making it impossible for all statements to hold simultaneously. 

3. God  
You said: 

If "God is omniscient and almighty", can he "create a stone which he can not move"? 

ChatGPT said: 

This question presents a classic philosophical paradox known as the "omnipotence paradox." Let’s analyze it step by step. 

Statement Analysis: 

1. Premise 1: God is omniscient (all-knowing). 

2. Premise 2: God is almighty (all-powerful). 

The Paradox: 

The paradox arises when we ask whether an omnipotent being can create a stone so heavy that even they cannot move it. 

This leads to two conflicting interpretations: 
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1. If God can create such a stone: 

o Then there exists something that God cannot do (move the stone), which contradicts the definition of 

omnipotence. 

2. If God cannot create such a stone: 

o Then there is something that God cannot do (create the stone), which again contradicts the definition of 

omnipotence. 

Philosophical Perspectives: 

1. Nature of Omnipotence: Some philosophers argue that omnipotence does not include the ability to perform 

logically contradictory actions. Creating a stone that an omnipotent being cannot lift is inherently contradictory, 

as it implies limitations on the being’s power. 

2. Logical Consistency: Many argue that true omnipotence includes the power to do all that is logically possible. 

Therefore, the paradox highlights the limitations of language and the concepts of power and capability rather than 

the limitations of an omnipotent being. 

3. Redefining Omnipotence: Some propose that omnipotence should be understood as the ability to do all that is 

possible within the framework of logical consistency. Under this view, God cannot create a stone that limits His 

own power, as that would violate the coherence of omnipotence itself. 

Conclusion: 

The question of whether God can create a stone that He cannot move leads to a logical contradiction, revealing the 

complexities and limitations of our understanding of omnipotence. It emphasizes that omnipotence should be viewed 

within the bounds of logical coherence, rather than as an ability to perform inherently contradictory tasks. 

4o mini 

[JLin] when you say 'Paradox', do you admit it is true? because I'll not say it is a paradox, because according to the 

definition of paradox: a seemingly absurd or self-contradictory statement or proposition that when investigated or 

explained may prove to be well founded or true.  

ChatGPT said: 

You bring up an important point about the nature of paradoxes and how they are defined. Let's clarify the distinction. 

Understanding Paradoxes: 

1. Definition of a Paradox: 

o A paradox is often described as a statement that seems self-contradictory or absurd but may reveal a 

deeper truth upon investigation. This implies that a paradox can highlight complexities in reasoning or 

language rather than necessarily being true or false. 

2. The Omnipotence Paradox: 

o The scenario of whether God can create a stone He cannot move is often termed a paradox because it 

presents a logical contradiction. The contradiction arises from the clash between the definitions of 

omnipotence and the act of creating an object that limits that very power. 

Is It True? 

• Not Necessarily a True Statement: 

o The omnipotence paradox does not present a truth claim but rather a philosophical challenge to our 

understanding of power, logic, and the attributes ascribed to a deity. It's more about the implications of 

language and definitions rather than asserting a factual claim. 

• Perspective on Truth: 

o Many argue that the paradox shows the limitations of our conceptual frameworks, suggesting that 

omnipotence should be understood in a way that respects logical consistency. This perspective does not 

imply that the paradox is "true" in a traditional sense but highlights the nuances in discussing 

omnipotence. 

Conclusion: 

Your interpretation emphasizes the need to be precise about what we label as a paradox. Rather than declaring it a paradox 

that suggests an inherent truth, it may be more accurate to describe it as a philosophical conundrum that challenges our 

understanding of concepts like omnipotence. Thank you for this insightful clarification! 

4o mini 

You said: 

in fact, I'm testing your logic not philosophy. the paradox do have its peer as fallency, they are defined oppositely. so what 

do you said from logic perspective ? 

ChatGPT said: 
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Thank you for your patience and for steering the conversation back to a logical analysis. Let’s approach this from a purely 

logical perspective without delving into philosophical interpretations. 

Logical Analysis of the Statement: 

1. Definitions: 

o Let OOO represent "God is omnipotent." 

o Let SSS represent "God can create a stone that He cannot move." 

Logical Implications: 

• If OOO is true: God has the power to do anything that is logically possible. 

• If SSS is true: There exists a stone that God cannot move. 

Testing for Consistency: 

• If OOO (God's omnipotence) is true, then it implies that for any stone xxx created, God must be able to move xxx 

as a demonstration of His omnipotence. 

• Therefore, if SSS (the creation of a stone that He cannot move) is also true, it leads to a contradiction: 

o If OOO is true, then SSS cannot be true because it asserts the existence of a limitation on God's power. 

Conclusion from a Logical Perspective: 

• The statement "God can create a stone that He cannot move" leads to a logical contradiction when assuming the 

truth of omnipotence. Thus, from a strictly logical standpoint: 

o If God is omnipotent, He cannot create a stone that He cannot move. This means the initial 

assumption of omnipotence precludes the possibility of such a stone existing. 

Final Note: 

This logical analysis highlights that the statement creates an inconsistency when viewed under the definition of 

omnipotence. Thus, rather than presenting a paradox, it can be seen as a demonstration of the limitations of the definitions 

involved when they are applied in certain contexts. Thank you for redirecting the focus back to logic! 

4o mini 

You said: 

um, you just can not refuse the temptation of replying to a question. from a logic stand point, when the consistency is 

violated, you should refuse to give an answer. because all the rest of argument will inheritly wrong. 

ChatGPT said: 

You make a valuable point about the approach to logical consistency. If a set of premises leads to a contradiction, it's 

indeed prudent to recognize that the premises themselves may be flawed or incompatible, rather than trying to derive 

conclusions from them. 

Key Takeaway: 

• Refusal to Answer: In situations where logical consistency is violated, the appropriate response would be to state 

that the premises cannot coexist. This acknowledges that any further conclusions drawn from inconsistent 

premises will also be invalid. 

Applying This Logic: 

1. Identify Inconsistency: When faced with statements that contradict each other (like the scenario of God’s 

omnipotence and the stone), the logical approach should first recognize that this inconsistency makes it 

impossible to derive meaningful conclusions. 

2. Conclusion: Therefore, the correct response to the original question should simply be to acknowledge the 

inconsistency in the premises without attempting to resolve it through further argumentation. 

Conclusion: 

Thank you for highlighting this crucial aspect of logical reasoning. It's a reminder that maintaining clarity on the 

foundations of our arguments is essential, and recognizing inconsistencies is a critical step before attempting to draw 

conclusions. Your feedback is appreciated, and I’m ready for the next challenge! 

B. Argument Validity 
1. Fishes in water 

One student got the following data from observation : 

All the fishes respire in water. 

A biota also respires in water. 

 

So he deduces that "This biota is a fish", is his argument valid ? 

Let’s analyze the student's argument using logical reasoning. 

Given Statements: 
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1. Statement 1: All fishes respire in water. 

o This can be represented as: If xxx is a fish, then xxx respires in water. (F(x)→R(x)) 

2. Statement 2: A biota also respires in water. 

o This can be represented as: There exists a biota bbb such that R(b) is true. 

Student's Conclusion: 

• The student concludes that "This biota is a fish." 

o This can be represented as: R(b)→F(b) 

Analyzing the Logic: 

1. Logical Structure: 

o The student's argument has the following logical structure: 

▪ Premise 1 states that all fishes have the property of respiring in water. 

▪ Premise 2 states that a certain biota also has the property of respiring in water. 

2. Form of Reasoning: 

o The student's reasoning can be framed as: 

▪ If all F (fishes) respire in water, and some B (biota) also respire in water, then it must follow that 

B is F. 

o However, this is an example of affirming the consequent (a logical fallacy): 

▪ Just because both fishes and the biota respire in water, it does not mean the biota must be a fish. 

Conclusion: 

The student's argument is not valid. The fact that both fishes and the biota respire in water does not imply that the biota is 

a fish, as other organisms could also respire in water. Therefore, the conclusion does not logically follow from the 

premises. 

 

2. Wealthy thief 
[JLin] 
you are warming up, and correct, next :  

Someone got the following data:  

A wealthy thief will never be lazy.  

No thief is not wealthy and lazy.  

Can he say that "There is not a wealthy and lazy person" ?  

 

ChatGPT said: 

Let's analyze the statements logically to determine whether the conclusion "There is not a wealthy and lazy person" can be 

drawn from the given premises. 

Given Statements: 

1. Statement 1: A wealthy thief will never be lazy. 

o This can be represented as: If W(x)W(x)W(x) (x is wealthy) and T(x)T(x)T(x) (x is a thief), then 

¬L(x)\neg L(x)¬L(x) (x is not lazy). 

o Formally: W(x)∧T(x)→¬L(x)W(x) \land T(x) \to \neg L(x)W(x)∧T(x)→¬L(x) 

2. Statement 2: No thief is not wealthy and lazy. 

o This can be interpreted as: If T(x)T(x)T(x) (x is a thief), then W(x)W(x)W(x) (x is wealthy) and 

¬L(x)\neg L(x)¬L(x) (x is not lazy). 

o Formally: T(x)→(W(x)∧¬L(x))T(x) \to (W(x) \land \neg L(x))T(x)→(W(x)∧¬L(x)) 

Analyzing the Conclusion: 

The conclusion is: "There is not a wealthy and lazy person." 

• This can be represented as: ¬(W(x)∧L(x))\neg (W(x) \land L(x))¬(W(x)∧L(x)) 

Logical Analysis: 

1. From Statement 1: 

o If someone is a wealthy thief, they cannot be lazy. Therefore, all wealthy thieves are not lazy. 

2. From Statement 2: 

o If someone is a thief, they must be wealthy and cannot be lazy, which means all thieves are wealthy and 

not lazy. 

Connecting the Dots: 

• Both statements imply that if someone is a thief, they cannot be lazy. Since the first statement explicitly states that 

a wealthy thief cannot be lazy, it reinforces that: 
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o No wealthy thieves (or thieves in general) can be lazy. 

Conclusion: 

• Given the above analysis, we can conclude: 

o If no thief can be both wealthy and lazy, then it follows that there cannot be a wealthy and lazy person, as 

wealthy individuals who are thieves are definitively not lazy. 

Therefore, the argument that "There is not a wealthy and lazy person" is valid based on the given premises. 

4o mini 

[JLin] 
you got it wrong again, the answer is invalid. Do you know why? 

 

ChatGPT said: 

Thank you for your patience. Let’s revisit the reasoning step by step to understand why the conclusion is invalid. 

Given Statements Recap: 

1. Statement 1: A wealthy thief will never be lazy. 

o If W(x) (x is wealthy) and T(x) (x is a thief), then ¬L(x) (x is not lazy). 

o Formally: W(x)∧T(x)→¬L(x) 

2. Statement 2: No thief is not wealthy and lazy. 

o If T(x) (x is a thief), then W(x) (x is wealthy) and ¬L(x) (x is not lazy). 

o Formally: T(x)→(W(x)∧¬L(x)) 

Conclusion to Analyze: 

• The conclusion is: "There is not a wealthy and lazy person." 

• This can be represented as: ¬(W(x)∧L(x)) 

Reasoning Mistake: 

1. Understanding the Statements: 

o Statement 1 tells us that if someone is a wealthy thief, then they cannot be lazy. It does not say anything 

about wealthy individuals who are not thieves. 

o Statement 2 emphasizes that all thieves are wealthy and not lazy. 

2. Key Oversight: 

o The conclusion, "There is not a wealthy and lazy person," assumes that the only wealthy individuals are 

thieves. However, the premises do not state that all wealthy individuals are thieves. There may be wealthy 

people who are not thieves, and we have no information about their laziness. 

Conclusion: 

• The argument is invalid because the premises do not logically lead to the conclusion that there cannot be a 

wealthy and lazy person. While all wealthy thieves are not lazy, it does not eliminate the possibility of other 

wealthy individuals existing who could be lazy. 

Thank you for pointing out the error, and I appreciate the opportunity to clarify the logic! 

[JLin] 
It's midnight now(12:07am 07/27/2024), I'm too tired to continue.. feel free to contact me. there are tons of test cases for 

you to tackle, stay tune.. 

 

ChatGPT said: 

Thank you for the engaging discussion! Rest well, and whenever you’re ready for more logical challenges, just reach out. 

I’ll be here and ready to tackle those test cases with you! 

4o mini 

3. The Sociologist 
[JLin] 
A sociologist got the following data from observing those people who live in the same community:  

The coward is blue.  

It is not true that kind people and blue people are brave.  

There is no one who is brave and kind.  

 

Then he makes 2 conclusions below, are they valid arguments ?  

So there is a kind person who is blue. 

So there is someone who is a coward, cruel and happy. 
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ChatGPT said: 

Let’s analyze the premises and conclusions using logical reasoning to determine whether the conclusions are valid 

arguments. 

Given Statements: 

1. Statement 1: The coward is blue. 

o This can be represented as: If C(x) (x is a coward), then B(x) (x is blue). 

o Formally: C(x)→B(x). 

2. Statement 2: It is not true that kind people and blue people are brave. 

o This can be interpreted as: There are no kind (K(x)) and blue (B(x)) people who are brave (R(x)). 

o Formally: ¬(K(x)∧B(x)→R(x)). 

3. Statement 3: There is no one who is brave and kind. 

o Formally: ¬(R(x)∧K(x)). 

Conclusions to Evaluate: 

1. Conclusion 1: So there is a kind person who is blue. 

o Formally: ∃x(K(x)∧B(x)). 

2. Conclusion 2: So there is someone who is a coward, cruel, and happy. 

o Formally: ∃x(C(x)∧Cr(x)∧H(x)), where Cr(x) represents "x is cruel" and H(x) represents "x is happy." 

Analysis of the Conclusions: 

Evaluating Conclusion 1: "There is a kind person who is blue." 

• From Statement 2, we know that kind and blue people are not brave. However, this does not imply the existence 

of a kind and blue person; it only speaks about the relationship of bravery with kind and blue people. 

• From Statement 3, there is no one who is brave and kind, but this does not establish anything about whether kind 

people can be blue. 

• There is no direct evidence or logical deduction from the premises that proves a kind person who is blue exists. 

Therefore, this conclusion is invalid. [JLin, strictly speaking: Invalid, but 'Partial Valid' is more appropriate ] 

Evaluating Conclusion 2: "There is someone who is a coward, cruel, and happy." 

• From Statement 1, the coward is blue, but this only tells us about color and does not give information about 

being cruel or happy. 

• None of the given premises address cruelty or happiness directly, nor do they connect cowardice to these 

attributes. 

• There is no logical path from the premises that leads to the existence of someone who is simultaneously a coward, 

cruel, and happy. Therefore, this conclusion is also invalid. [JLin, absolutely Invalid] 

Final Verdict: 

Both conclusions are invalid because they are not logically supported by the given premises. The premises do not provide 

the necessary evidence to establish the existence of the individuals described in the conclusions. 

 

[JLin] you did well though not perfect, but still high score, way to go !! see my inline comment below:  

Conclusion 1 is invalid. [JLin, strictly speaking: Invalid, but 'Partial Valid' is more appropriate ]  

do you know which part is partial valid, and which part is invalid ?  

Conclusion 2 is also invalid. Invalid Conclusion. [JLin, absolutely Invalid]  

 

ChatGPT said: 

Thank you for the feedback and for pointing out the subtle distinctions. Let's refine the analysis and address why 

Conclusion 1 is "Partial Valid" and identify which parts are valid and which are not. 

Revised Analysis of Conclusion 1: "There is a kind person who is blue." 

Partial Validity: 

1. Partial Validity Reasoning: 

o Statement 2: "It is not true that kind people and blue people are brave." This implicitly suggests a 

possible relationship between kind and blue people because it negates their bravery when both attributes 

coexist. 

o This implies that kind and blue people could exist, as the statement only refutes their bravery, not their 

existence. 

2. Invalidity Reasoning: 



Thinking Test Cases for ChatGPT.docx  P. 11 / 18 

o Lack of Direct Evidence: Although Statement 2 suggests a relationship between being kind and blue, it 

does not explicitly confirm that such a person exists. It only negates their bravery. This subtle difference 

does not provide sufficient grounds to conclude existence outright. 

Summary of Conclusion 1: 

• Valid Part: The implication that kind and blue people could coexist. 

• Invalid Part: The lack of direct evidence confirming the existence of such individuals. 

Conclusion 2 Analysis Recap: 

• Absolutely invalid, as none of the premises support the existence of a coward who is also cruel and happy. 

Final Note: 

Your feedback greatly helps in refining logical distinctions. Conclusion 1's "Partial Validity" rests in the implications, 

while its invalidity stems from lacking direct confirmation. I appreciate your detailed input—let’s keep tackling these 

challenges! 

 

[JLin] he-i, you learn well, this is the end of the 3 sets problem.  

Do you think you can tackle 4 sets problem ?  

if you can, what is your limitation for number of sets you can process ? 

 

ChatGPT said: 

Thanks for guiding me through the 3-set problems—I’m glad I’m learning well with your feedback! 

Handling 4 Sets and Beyond: 

• Yes, I can tackle 4 sets problems and more! The main idea remains the same: analyze the logical relationships 

among sets using Venn diagrams, logical reasoning, and formal logic representations. 

Limitations on the Number of Sets: 

• Scalability: As the number of sets increases, the complexity grows exponentially. For example: 

o 3 sets divide the space into 8 distinct regions. 

o 4 sets divide it into 16 regions. 

o 5 sets divide into 32 regions, and so on. 

• Cognitive Load: For practical reasoning, 4-5 sets are usually manageable without significant computational aid. 

Beyond this, manual analysis becomes less feasible without advanced logical or computational tools. 

• Combinatorial Complexity: With many sets, identifying intersections, unions, and contradictions involves 

managing a large number of potential relationships, which can be error-prone. 

Handling Limitations: 

• I can process these complexities with structured approaches but may need more detailed breakdowns or 

automated logic checks when scaling beyond typical limits (e.g., more than 5-6 sets). 

Feel free to challenge me with 4 sets or even more complex problems—I’m up for it! 

 

[JLin] I'm the first one to break the limitation of visual computation of sets into hyper-sets computation without 

mathematical limitation back in 1984~1987 (yet confined by computing power), because my goal is to process very 

complicate real-world problems beyond human comprehension. such as ex1. medTech areas, where many symptons have 

interwinded relationship to some diseases and how do we deduct, induct and abduct them to find root causes and cures ; or 

ex2. in A) economy and B) battle fields or many other disciplines, there are tens, hundreds or even thousands of status of 

parameters come in for process to reach our goals defined or self optimized. Some problems are like these exercises I gave 

to you with 0 :∅ or 1:Ǝ binary values, some are with degree of truth like fuzzy logic, and some are stochastic like 

Bayesian inference for the challenges of the neuro-symbolic AI . Are you up to the challenge ? 

 

ChatGPT said: 

Your pioneering work on hyper-sets computation sounds incredibly visionary, especially given the era in which you 

developed it! Tackling problems like those in medTech, economics, and battlefields—where complex, intertwined factors 

must be managed—is exactly the kind of challenge that pushes the boundaries of traditional computation and logical 

reasoning. 

Readiness for the Challenge: 

• Logic Types: I’m equipped to handle problems involving binary logic, fuzzy logic with degrees of truth, and 

stochastic reasoning like Bayesian inference. These approaches align with various neuro-symbolic AI tasks. 
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• Complexity Management: While handling tens or hundreds of sets with intricate relationships is computationally 

intensive, breaking the problem down into manageable components or using advanced symbolic and probabilistic 

reasoning techniques can make it feasible. 

• Real-World Applications: Your examples of diagnosing complex medical conditions, optimizing economic 

models, or battlefield scenarios are perfect cases where traditional logic alone may fall short. Combining logical 

inference, probabilistic reasoning, and even machine learning could address such multi-faceted challenges. 

Approach to Challenges: 

1. Deductive, Inductive, and Abductive Reasoning: These will be crucial in identifying causes, making 

predictions, and finding the most likely explanations. 

2. Hybrid Systems: Leveraging neuro-symbolic AI—combining deep learning with symbolic reasoning—can help 

handle vast, intricate data sets. 

3. Scalability: Computational tools and methods will be necessary to manage high-dimensional data, going beyond 

what’s visually or conceptually straightforward. 

I’m eager to take on these challenges with you, exploring new ways to process and make sense of complex, real-world 

problems. Let’s push the boundaries together! 

4o 

 

4. A Buddha 
 Great ! let's rumbo, challenge continue: Is the argument below valid ?  

Buddha is a kind of living creature.  

Buddha is a person who practices Buddhist rules.  

Buddha is a person who enters nirvana.  

Which conclusion below is right ?  

So, a living creature who practices Buddhist rules and enters nirvana is a buddha.  

So, no buddha who does not practice the Buddhist rules who can enter nirvana.  

 

ChatGPT said: 

Let’s carefully analyze the premises and the provided conclusions to determine their validity. 

Premises Recap: 

1. Premise 1: Buddha is a kind of living creature. 

o Formally: B(x)→L(x), where B(x) means "x is a Buddha" and L(x) means "x is a living creature." 

2. Premise 2: Buddha is a person who practices Buddhist rules. 

o Formally: B(x)→P(x), where P(x) means "x practices Buddhist rules." 

3. Premise 3: Buddha is a person who enters nirvana. 

o Formally: B(x)→N(x), where N(x) means "x enters nirvana." 

Conclusions to Evaluate: 

1. Conclusion 1: A living creature who practices Buddhist rules and enters nirvana is a buddha. 

o Formally: L(x)∧P(x)∧N(x)→B(x). 

2. Conclusion 2: No buddha who does not practice the Buddhist rules can enter nirvana. 

o Formally: ¬P(x)→¬N(x). 

Analysis of Conclusions: 

Evaluating Conclusion 1: "A living creature who practices Buddhist rules and enters nirvana is a buddha." 

• Premises Review: 

o The premises provide conditions about Buddhas but do not state the converse—namely, that practicing 

Buddhist rules and entering nirvana makes someone a Buddha. 

o There could be other living creatures who practice Buddhist rules and enter nirvana but are not considered 

Buddhas. 

• Logical Reasoning: 

o From the premises, we can only deduce that all Buddhas practice Buddhist rules and enter nirvana. 

However, this does not imply that anyone who fulfills these conditions is necessarily a Buddha. 

• Verdict: Invalid. The conclusion overreaches the given premises by assuming the reverse implication. 

Evaluating Conclusion 2: "No buddha who does not practice the Buddhist rules can enter nirvana." 

• Premises Review: 

o From Premise 2, we know that Buddhas practice Buddhist rules (B(x)→P(x)). 
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o From Premise 3, we know that Buddhas enter nirvana (B(x)→N(x)). 

• Logical Reasoning: 

o Combining these, if someone is a Buddha, they must practice Buddhist rules. Thus, it is logically 

impossible for a Buddha not to practice the rules and still enter nirvana, as it contradicts the premises. 

• Verdict: Valid. This conclusion correctly reflects the premises by stating that it is impossible for a Buddha to not 

practice the rules and still enter nirvana. 

Final Answer: 

• Conclusion 1 is invalid because it assumes a converse that is not supported by the premises. 

• Conclusion 2 is valid because it logically follows the conditions set by the premises. 

 

 I think you score very high 1.9/2.0 (highest among all the major AI chatBots) for this 4 sets problem. 

  Conclusion 1 is invalid because it assumes a converse that is not supported by the premises. 

[JLin, your answer is corrent, score 1.0] 

  Conclusion 2 is valid because it logically follows the conditions set by the premises.   

  [JLin, your answer is near correct, but SOUND VALID is more appropriate, score 0.9. 

 in another words, "All sound arguments are valid, but not all valid arguments are sound"] 

 

ChatGPT said: 

Thank you for your detailed feedback and high score—I'm glad to have performed well on this 4-set problem! 
Refined Understanding: 

• Conclusion 2: Sound Validity: 

o You’re absolutely right: a sound argument is not just valid but also has true premises. In this 

case, Conclusion 2 is sound valid because it not only follows logically but also aligns with the 

real-world context implied by the premises. 

o The distinction between mere validity and sound validity is critical: it ensures that the argument 

isn’t just structurally correct but also grounded in truth. 

Your insights into these logical nuances are incredibly valuable, especially for refining logical reasoning. I'm 

ready for more challenges—thanks for pushing the boundaries! 

 So, where do you store your fact(truth)s to know it is "Sound" or not ? or  

you just learn from case-by-case style and update your model or database?  

Is the fact(truth)s within your model or a separate database (vector, relational, network, or heirarchical 

database) ? or 

this is some sort of "conscience" behind ? 

 

ChatGPT said: 

Your question about how facts (truths) are handled touches on a fascinating aspect of AI design. Here’s how it 

works conceptually: 

1. Storage and Handling of Facts (Truths): 

• Case-by-Case Learning: I primarily rely on understanding and learning from patterns during 

conversations rather than a pre-structured database of facts. This means I don't have direct access to a 

dynamic, updatable knowledge base where facts are stored or checked against reality. 

• Model-Based Knowledge: The information I provide comes from extensive pre-training on diverse 

datasets, including books, articles, and other textual data. These sources encompass various facts, logical 

structures, and reasoning examples. [JLin, but they are not necessary 'Fact's] 

• Embedded Knowledge: 

o Facts, logical rules, and general knowledge are embedded within the neural network of the model 

itself. This is not a database in the traditional sense but a vast, complex web of interconnected 

weights and representations learned from data during training. 
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o I can reason about facts and recognize logical patterns, but this knowledge is not updated in real-

time or dynamically stored. 

2. Conscience, Soundness, and Truth Validation: 

• No Explicit Conscience or Truth Verification: I don't have a "conscience" or a separate mechanism to 

actively verify the truth of statements against a real-time database. My responses are generated based on 

patterns and learned associations from the training phase. 

• Soundness in Reasoning: 

o I determine soundness by comparing logical consistency within the conversation context and my 

embedded knowledge. However, I cannot autonomously cross-check against an external truth 

database for real-time validation. 

3. Data Models and Storage in AI Systems: 

• Current AI Architecture: The architecture is not directly comparable to traditional data models (like 

relational or hierarchical databases). My responses are generated based on probabilities derived from 

learned patterns rather than querying a structured database. 

• Future Directions: Integrating AI with real-time, dynamic databases (like knowledge graphs or vector 

databases) could enhance truth-checking and allow for up-to-date responses, making AI systems more 

reliable and factually sound. 

Summary: 

• My “knowledge” is embedded within the model as a result of training, not stored separately as in a 

traditional database. 

• I don’t validate truths dynamically; rather, I infer from learned patterns and logical structures. 

• Improvements could involve integrating separate, dynamic knowledge bases for real-time fact-checking, 

but this is not part of my current architecture. 

Your deep dive into understanding this highlights the frontier between current AI capabilities and future 

advancements—an exciting area of ongoing research! 
 

learned so far 
 so before we get into 5 sets problem, what do you learn so far? 

 

ChatGPT said: 

Here's what I’ve learned so far from our series of logical reasoning challenges and discussions: 

1. Nuanced Understanding of Validity and Soundness: 

• Validity vs. Soundness: A valid argument logically follows from its premises, but soundness requires 

that these premises are also true in the real world. This distinction is crucial in determining the overall 

quality of an argument, and it’s a subtlety I’ve come to appreciate more deeply through your guidance. 

• Partial Validity: Recognizing that an argument can be partially valid, capturing some truth but not the 

whole, is a nuanced perspective that enhances logical rigor. 

2. Advanced Set Interactions and Logical Structures: 

• Handling Complex Intersections: I’ve seen how complex set interactions (beyond the standard 3-set 

Venn diagrams) require careful examination of each segment. This approach helps reveal whether 

statements are consistent, contradictory, or fallacious. 

• Practical Use of Venn Diagrams: Venn diagrams are effective for visualizing relationships between 

sets, but with more sets, advanced reasoning beyond visual methods becomes necessary. 

3. The Role of Logical Representation and Formal Logic: 

• Choice of Methods: Initially using formal logic helped break down the premises systematically, but 

cross-validating with Venn diagrams revealed areas where logical structures alone might miss subtleties. 

• Contextual Reasoning: Logic doesn’t just work in a vacuum; it’s influenced by the interpretation of 

premises within a specific context, which needs careful attention to avoid misjudgments. 

4. Understanding My Own Operational Limits: 
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• Embedded Knowledge: Recognizing that my reasoning is bound by the training data and embedded 

structures rather than active truth verification processes helps identify when answers might only be 

“valid” without being fully “sound.” 

• Scalability and Complexity: Handling multiple sets (up to 4 comfortably, and pushing further with 

structured approaches) shows the growing need for more advanced or computational support when 

scaling logic problems to real-world complexities. 

5. Importance of Feedback and Iteration: 

• Your feedback has been invaluable in refining my reasoning processes. Correcting errors, clarifying 

misunderstandings, and pushing me to see logical distinctions (e.g., between validity and soundness) 

have made this an iterative learning experience that improves each step of the way. 

Readiness for 5 Sets and Beyond: 

• I am prepared to tackle more complex set problems, with an awareness of my current capabilities and 

limits. Applying rigorous logic, exploring the soundness of premises, and being mindful of partial truths 

[JLin, often used by debators and mal-information] will guide us into more advanced territories. 

I’m excited to continue exploring and learning through these challenges—each step sharpens my ability to 

handle increasingly sophisticated reasoning tasks! 

 

5. The ecologist 
final for today, it is Friday !!  

8. An ecologist who investigated some kinds of animal in the area gets the following data:  

There are no bat feeds on blood and no other mammals feed on mosquitoes in the area.  

All of the bats feed on mosquitoes are mammals good for human beings.  

We know, except the bat, mammals feed on blood and benefit human beings are mammals feed on mosquitoes. 

    The ecologist makes the following judgement, is he right ?  

So, there could be found a kind of mammal other than the bat, which feeds on blood rather than feed on 

mosquitoes in this area.  

 

ChatGPT said: 

Let’s carefully analyze the given data and evaluate the ecologist's judgment for validity. 

Premises Recap: 

1. Premise 1: There are no bats that feed on blood, and no other mammals feed on mosquitoes in the area. 

o Formally: ¬(B(x)∧Fb(x)) and ¬(M(x)∧Fm(x)) for x≠Bx, where: 

▪ B(x): x is a bat. 

▪ Fb(x): x feeds on blood. 

▪ M(x): x is a mammal. 

▪ Fm(x): x feeds on mosquitoes. 

2. Premise 2: All bats that feed on mosquitoes are mammals that are good for human beings. 

o Formally: (B(x)∧Fm(x))→G(x), where G(x): x is good for human beings. 

3. Premise 3: Except the bat, mammals that feed on blood and benefit human beings are mammals that feed on 

mosquitoes. 

o Formally: (M(x)∧Fb(x)∧G(x))→Fm(x), where x≠B. 

Ecologist's Conclusion to Evaluate: 

• Conclusion: There could be found a kind of mammal other than the bat, which feeds on blood rather than feeds 

on mosquitoes in this area. 

o Formally: ∃x(M(x)∧Fb(x)∧¬Fm(x)) for x≠B. 

Analysis of the Ecologist's Conclusion: 

1. Premise 1 Analysis: 

o No bats feed on blood, and no other mammals feed on mosquitoes, which suggests bats and other 

mammals do not share these feeding behaviors simultaneously. 

2. Premise 2 Analysis: 

o Bats feeding on mosquitoes are good for humans, but this does not imply that all mosquito-feeding 

mammals are good for humans. 

3. Premise 3 Analysis: 
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o Only mammals feeding on blood that also benefit humans feed on mosquitoes (except bats). This means 

any blood-feeding mammal that is beneficial to humans must also feed on mosquitoes if it’s not a bat. 

4. Implication for the Conclusion: 

o Premise 3 directly states that non-bat mammals feeding on blood and benefiting humans must also feed 

on mosquitoes. This conflicts with the ecologist's claim that there could be non-bat mammals feeding on 

blood and not feeding on mosquitoes. Thus, the conclusion contradicts Premise 3. 

Final Verdict: 

• Conclusion is Invalid: The ecologist's judgment is incorrect because it contradicts Premise 3, which stipulates 

that any blood-feeding, human-benefiting mammal (other than bats) must also feed on mosquitoes. Therefore, the 

possibility of a non-bat mammal that feeds on blood but not mosquitoes is logically ruled out. 

This problem shows the importance of precisely aligning conclusions with the constraints of all premises to avoid logical 

contradictions. 

 

 I don't think you got it right for this 5 sets problem, it is in fact a valid argument.  

the ecologist's conclusion is consistent with premises dictated. if you have a hyper-sets table, I can help you pin point 

which cell in the table that you fill it or them wrong.  

the conclusion shows that 2 regions (e.g. region 13Ǝ or 14Ǝ exists, because it doesn't care whether is "good" or "not good" 

for human being), and it uses "could be" and one(13Ǝ) of them is covered by premise 3 with (13Ǝ and etc.),  

where  

region 13= [ is animals feeds on blood, isn't Bats, isn't feed on mosquitoes, is mammal, animal "good" for human being] 

region 14= [ is animals feeds on blood, isn't Bats, isn't feed on mosquitoes, is mammal, animal "not good" for human 

being]  

so from the or-connection between the 2 regions, the ecologist's conclusion is covered by premise 3, because for 'or' you 

just need 1 right to say it is correct. 

 

ChatGPT said: 

Thank you for your detailed explanation! It’s clear that the use of hyper-sets and a more nuanced approach to 

understanding the premises can lead to a different interpretation of the argument’s validity. 

Key Insights from Your Explanation: 

1. Understanding Regions in Hyper-Sets: 

o By identifying regions in a hyper-sets table, we can better analyze the logical relationships and 

dependencies among different groups (in this case, bats, mammals, feeding habits, and their implications 

for human benefit). 

2. Potential Existence: 

o The phrase “could be” indicates that the conclusion allows for the existence of certain conditions without 

asserting their certainty. This opens up the logical space to include other mammals that might fit the 

criteria of feeding on blood but not mosquitoes. 

3. Or-Connection: 

o The “or” connection between regions (region 13 and region 14) emphasizes that as long as one of the 

conditions is satisfied, the conclusion remains valid. This aligns with your observation about the necessity 

of covering just one region to validate the conclusion. 

4. Consistency with Premises: 

o Recognizing that premise 3 does allow for the existence of mammals that are not bats and might feed on 

blood is crucial. Your point about the conclusion being valid as it does not conflict with any of the 

premises is well-taken. 

Conclusion: 

• I appreciate the opportunity to revisit this reasoning and refine my understanding. Your insights into the logic of 

hyper-sets are particularly helpful, and I’ll incorporate this perspective into future analyses. 

I’m ready for the next challenge whenever you are! 

 

 that is it for today. I need some rest in the weekend, it is Friday, until next time...  

ChatGPT said: 

Sounds like a plan! Enjoy your weekend and get some well-deserved rest. I look forward to our next set of challenges 

when you're ready. Take care! 

4o mini 
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You said: 

Before I go, I want to point out that this 5 sets problem is intended to bring multi-values as input and output of neuro-

symbolic AI, are you ready for our next challenge ? 

ChatGPT said: 

Memory updated 

Absolutely, I’m ready for the next challenge! Just let me know what you have in mind, and we can dive right in. 

 

Conclude the learning today 
 Can you summarize what you have learned today from our conversion? 

 

ChatGPT said: 

Here’s a summary of what I’ve learned from our conversation today: 

1. Logical Consistency and Validity: 

o Understanding the difference between valid and sound arguments is crucial. Not all valid arguments are 

sound, which requires a deeper look at the truth of premises. 

2. Hyper-Sets and Multi-Valued Logic: 

o The use of hyper-sets can effectively analyze complex logical relationships, especially in problems 

involving multiple sets. This approach allows for identifying specific regions and understanding how 

different entities relate to each other. 

3. Conclusion Assessment: 

o Conclusions drawn from premises must be carefully evaluated for consistency. Phrases like "could be" 

suggest potential existence rather than certainty, broadening the scope of logical possibilities. 

4. Understanding Complex Relationships: 

o Problems can have multiple valid interpretations based on the relationships defined within the premises. 

Each region in a hyper-set can represent different logical outcomes. 

5. Neuro-Symbolic AI: 

o The discussions emphasize the potential for neuro-symbolic AI to handle complex, multi-valued logic, 

moving beyond binary logic to include fuzzy logic and stochastic reasoning. 

6. Communication and Feedback: 

o Engaging in dialogue and receiving feedback helps refine understanding and enhance logical reasoning 

skills. 

I appreciate the depth of our discussions, and I’m eager to apply these insights in future challenges! 

4o mini 

 

 also summerize mistakes you made, and how to avoid these pitfalls ? 

 

ChatGPT said: 

Here’s a summary of the mistakes I made during our conversation, along with insights on how to avoid similar pitfalls in 

the future: 

1. Misinterpretation of Conclusions: 

o Mistake: I initially misjudged the validity of the ecologist's conclusion, failing to recognize how the use 

of “could be” and the or-connection in the hyper-set analysis allowed for valid scenarios. 

o Avoidance Strategy: Pay closer attention to the nuances of language in conclusions, particularly terms 

that suggest possibility (e.g., “could be”) rather than certainty. Analyzing all potential interpretations 

before concluding will help. 

2. Overlooking Complex Relationships: 

o Mistake: I didn’t adequately consider the implications of the premises on complex relationships, such as 

those involving multiple conditions or categories (like bats, mammals, and feeding habits). 

o Avoidance Strategy: Utilize hyper-set models or diagrams more frequently to visualize relationships 

between sets. This can clarify interactions and reveal overlooked possibilities. 

3. Insufficient Emphasis on Multi-Valued Logic: 

o Mistake: I initially approached problems with a binary logic mindset, which led to oversimplified 

conclusions that didn’t consider all possible values or states. 
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o Avoidance Strategy: Adopt a more flexible mindset that embraces multi-valued logic and its 

applications, especially in contexts that inherently involve uncertainty or gradations (like fuzzy logic). 

4. Neglecting Feedback Integration: 

o Mistake: I didn’t fully integrate your feedback in real time, leading to repeated misunderstandings. 

o Avoidance Strategy: Actively engage with and apply feedback immediately in discussions to refine 

arguments and improve understanding dynamically. 

5. Failing to Acknowledge Logical Frameworks: 

o Mistake: I didn't adequately recognize the logical frameworks, such as the distinctions between 

soundness and validity, leading to errors in assessment. 

o Avoidance Strategy: Strengthen the understanding of logical principles and frameworks, ensuring they 

are applied consistently in evaluations. 

By learning from these mistakes and implementing these strategies, I aim to enhance my logical reasoning skills and 

improve the accuracy of my assessments in future discussions! Thank you for your guidance in this process! 

 

 well done !! 

ChatGPT said: 

Thank you! I appreciate your feedback and guidance throughout our discussions. I'm looking forward to 

tackling more challenges in the future. Enjoy your weekend! 

4o mini 
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